PARTS LIST
‘T’gﬁz‘;’;‘éﬁimﬂggg Esg%%i: ITEM QTY | PARTNO. PART DESCRIPTION UNIT WT. NETWT.
BOL 3 195213 | #12 LEG SECT - 1-3/4" TO 4-1/2“ TRANS LEG - 1/2" 8 739.890 2219.670
ORIENT ANGLES WITH STAMPED A an T ..
END TOWARD TOP OF SEGTION LD 6 |127611 | DIAG BRACES/6"X3"X3" 17-7-20/32" LONG (A 113,100 678.600
% DIAGONAL ANGLES MUST BE INSTALLED AS 6 |104291 | SPACER 1/2" THICK 1316" HOLE 0.500 3.000
WITH THE NON-BOLTED FAGE UP, ]t | | MN 6 |312502 | 3/4"-10 HOT DIPPED GALVANIZED NUT 0.190 1.140
16"-0" [4.572 m]
g:’gg y‘f\:TgETa’:J Fvﬁi??iﬂ&v%ﬁﬁﬁﬁa?&mm (4.572m] ML 6 | 312153 | 3/4" GALVANIZED LOCKWASHER 0.030 0.180
. MB 6 | 160427 | 3/4"-10 X 3" A-325T BOLT WITH FULL THREAD 0.470 2.820
sL 24 [312223 | 1" GALVANIZED LOCKWASHER 0.080 1.920
SN 24 [342504 | 1"-8 HOT DIPPED GALVANIZED NUT 0.430 10.320
SB 24 [172265 | 1"-8 X 2-1/4" A-326 BOLT WITH 1-3/4" THREAD 0.840 20.160
uD 6 |105688 | DIAG BRAGES/16" X3"X3" 16 9-27/32" LONG (A- 107.730 646.380
Lc8 18 |222022 | 1-1/4".7 X 5-1/2" A-325 BOLT WITH 2" THREAD 2,530 45.540
LCF 36 | 312282 | 1-1/4" GALVANIZED FLAT WASHER (F436) 0.130 4.680
LCL 18 [312283 | 1-1/4" GALVANIZED LOCKWASHER 0.150 2.700
LON 18 |312507 | 4-1/4"-7 HOT DIPPED GALVANIZED NUT 0.730 13.140
Total Wt 3650.25 Ib [1657.26 kg]
T
<
&)
b
o0
N ‘
=
_L L *%
SEE LEG
CONNECTION
| 170" {5.181 m] | DETAIL
(un XML X mB) PLACED
BETWEEN
e ANGLES
-
\ wite l"'""l
el Mg ‘e,
~ “
i Z DIAGONAL wiLLl R.. L
. [ = \ ANGLES HE'DEN III =
t ) ‘:Y | — =
\ 0. YOS m’:
ll/:-
Q\\
Y
£ &3
~ NO\! i & ?01&
DETAIL A DETAIL B LEG TO LEG CONNECTION Wi
illian eiden 1l1, ME P.E. #10068
ANGLE INTERSECTION CONNECTION MID SIDE PLATE ANGLE CONNECTION (SIDE PLATES NOT SHOWN FOR CLARITY) b } ’ T
(" sie N ( oescripTion
CITY OF PORTLAND FD, ME SECTION U-17.0 (20' - 40' ELEVATION) va mo n
MOTOROLA SOLUTIONS 1-877-467-4763 Plymouth, IN
N - - = )
U19 X180 1-800-547-2151 Salem, OR STRUCTURES
ENG. FILE NO. N
\ _COPYRIGHT 2013 JI 324370 v
@A <ACBATGH> SKK 81102016 PROPRIETARY NOTE: DWG. NO g G>)
REV DESCRIPTION OF REVISIONS CPD BY DATE I’LHEU[;AT/I&ASPZ[:“BE‘?};SIIQUESO%NTALNEDINTHISDR"/:WINGAREPROPRIETARYINFORMATIONOFVALMONT STRUCTURE APPROVAL FOUNDATION APPROVAL T j m
DUSTRIE! ONSIDERED DE SEC . Cl
REVISION HISTORY VALMONT INDUSTRIES lSSTRICTITfERICEHIEITREir ANY USE OR DISGLOSURE WITHOUT THE CONSENT OF SKK 8/10/2016 26861 4T




